Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35
0.3]
0.25]
0.2
0.15]
0.1

vs dxy(PV)

efficien:

0.05

PRI

Ratio

-20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

I Efficienc] —— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

efficiency vs dxy(PV)

ie]
3
04
TP dxy(PV) (cm)
E\ 0.55
< 0.45F
s E
2 04F
Fy E
20.35F
2 E
o ~
S o3f
o E
0.25F
0.2F
0.15F
0
0.05F ;
E I I I I I
he] .
T
04
-30 -20 -10 0 10 20 30
TP dz(PV) (cm)
st
o L
N [
k=l
w
>
>
Q
=
<
k2]
= r . . . . .
[} r . . . . .
0.6[=- == -+ G g oeeees e
0 deeef b i
0.2f-deeee ++ #’w’*ﬂ* -
o O- i | i i i
2 14af DL (i [EEERERTS | | EEEEEEEe
o :
1.2 <1t r-------
i . Ll ... ‘..
-1 -0.5




	Contents
	Page 1


